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� A����� ��A����� �A���	������ � ��A���  «����� �� ��!�A����"�� ��A�#�» � «$���%�� ������ 
��	������������& 	������» �	����	��� ��!��A� «'���	A��������"�� " ����� �� 	������» 
A�������	� �	��� A����	�� ��!�A����"��� ������� � �	A��	�A������ ����� ��� ���	���� ((�(). 
)�*A��	����� ��#�����	�  ���	�������� ������� �� ������ �A�%���� ��A � ��	�%��� ������� � 
����� ��� ��%���+��� ��� ��A�#�� �A� ,������	� ��A���%� ��!�A����& �� 10 -��	/� 
 
. A����� ��A����� �A���	�A������ �� ��A���  «����� �B� ��!�A�������B� ��	�» � «$���%����� 
�����B ��	����������" 	������» �	����	��� ��!��AB «/���	A������������� � ����� ��� 
	������» A�����	A��B 0	��B A����	�� ��!�A�������B� ������" � �	A��	�A�A�����B� ����� �B� 
���	����. )��������B �����#���	�  �A�������� ������" �� ������ ��	B� ��A � ��	�%����� 
������� � ����� �B� �B%����	�� �B� ��	�� �A� ���A��	� ��A���%� ��!�A����� �� 10 -1�	/� 
 
Within the framework of game designing at rates «Cable information networks» and « Physical bases of 
optical fiber technics» students of faculty «Electroinsulating and cable techniques» are considered stages 
of development of information cables in structured cable systems (SCS). Opportunities of application of 
cables are proved on the basis of twisted pairs and optical fibers in local computer networks at speed of 
transfer of the information up to 10 GBIT / s 
 

A����� �� �!"��# �  �!"�$���% � �&'��(�)�%. D���B ����A���� 
��!A��B� 	��������" � ���A������+ #���  ��2��	�� ��A�#�+	. D��, ���� 
����	  ��	 	��� ����� ��� ������� ��	�A��	�� �B�� �������", 	� ��"%�� 
0	�� ������ �� �����, . ����� ��� �	A���  ��A��	 ���� �� �����B� A���" � 
�B�	A�� A����	�� ��!�A�������B� 	��������" (	���. 1). 
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 FA� 0	�� ��A���� �������	�	�%�� � ������%���� ���	�A� 

	�����������������B� 	��������" ��!�A�������B�� �������� (�����B 
«)�������� » – ��	B� ��AB ��	���A�� 5�, 6-" � 7-", ��	�%����� ������; 
«4#����� » – ��	�%����� ������).  �� ��A����B 90-� ����� �A�,���� 
�	���	�� «����B�» ����� �B� ���	��B �� ������ ��	B� ��A 3-" ��	���A�� 
A���	��� �� %��	�	�� �� 20 5-� � �����A#����� ���	��B 10Base-T (��	� 
Ethernet �� ���A��	 + ��A���%� 10 51�	/�).  

)�	�%����� ������ 	�� �� ��%����� ����� ����	 ��  � ��%��	�� 
�����	A�� ��" ������	��B. )�� ��������� ��#�� ����"  ��	���� 
���A��������, ������2���� � A���B� ������� � ��A�����.  D��,  � ����� ��" 
�B%����	�� ��" ��	� (6.()  ��,��� ���	�	�	� ��A�B" 4-� ��������B" 
��	�%����" �����  �������� 7��	A ��!�A�������B� 	��������" � �%���B" 
��A��� �2.  ����� �����	A�� ��" ����� ��A���� 500 ��	A��. �����  � 
����������B�� ��	�%������ ���������, �����	A ��A������B ��	�AB� 
A���� 62,5 ���.  

FA�������� ��	�%������ ������ � 	����� ��������� ������%����� �� 
	�	 �����	 ��%,�� ��A��	�A��	��� ���������� (��� ,� ������B� ��	�A�) 
�� �A���	���� ��A���%� ����B�� �� �A������+ � 50-� ���A���B�� 
��	�%������ ���������.� (�	  A���	���� �� ����� ����B 850 �� �� 
���	������� � ��%��	�� ��A���	%��� ��	�%����� ����� ��� [1 – 2].  

. ����� 90-� ����� ���A��� �����������	  � ����� �B����" ���A��	� 
��A���%� ����B� � ����� � ��A������ �	 ����� ������� ��	�����B� PC 
(��A����� �B� ����8+	�A��) � �A�������+ ���	A���������B� ��A��A�B� 
A�,���". FA�������� ���������	  ���� +	�A�B� ��	�" �BA���� � 10 �� 100 
51�	/c, 	.�. ���2��	���� ��A���� �	 Ethernet � Fast Ethernet.  C� ����� ��	B� 
��A�� 3-" ��	���A�� �A�,�� ������ ��	���A�� 5 � 5�. )�� ������%����� 
��A���%� ��!A��B� �������� � ����	A� �� 125 5-� �� A���	����� �� 100 
��	A��.  

C�%��� ������ �	���	�� �������������  ��� ��",�� ���B,����� 
�A�������	�� ���	� ��	�".  (	A��	�A�A�����B� ����� �B� ���	��B   
���#�B �B�� �����A#���	  	��������� Gigabit Ethernet, 	.�. ��A���%� 
��!�A����� �� ���A��	 + 1000 51�	/�. C� ����� ��	B� ��A�� ��	���A�� 5� 
�A�,�� ������ 6 � 7-" ��	���A�", � ��	�%����� ������� � ����������B�� 
��������� – ������ � ���������B�� ���������. D���� ���������-



��	�%����� ������ A���	�+	 �#� �� �� ���	�����%�+2��� �������, � � 
�����A���������B�� ����A��� �� ����� ����B 1310 ��. . �+��� ���%��  
��2��	��+2�� �	A��	�A�A�����B� ����� �B� ��	� ����+	�� ���A���B��: � 
��� ����� ��+	�� ��� 	A��������B� 0���	A�%����� ������ �� ������ ��	B� 
��A, 	�� � ��	�%�����. FA� 0	�� ����B� ������ ����� ��+	�� � ��%��	�� 
��A����	�� ��" �A������ – ���	A����� ��A����	�� ��� ������	��� – ��� 
���������� ��#�� ����" ���� +	�A�� ���	A� ������ �� 0	�#�. )�	�%����� – 
� �����	A�� �B� ��!A��	A��	�A��: ���,��� ��A����	�� ��� ������	��� – 
��� ���������� ��#�� ����" �����"; ���	A����� ��A	���� ��� ������	��� – 
��� ���������� ��#�� ����" ����A�	�B� ��#�� 0	�#���  ���	A� ������.  

���� ������ – ������ �����#���	� �A�������� ������" �� ������ 
��	B� ��A � ��	�%����� ������" � ����� �B� �B%����	�� �B� ��	�� �A� 
���A��	� ��A���%� �� 10 -1�	/�. 

����*!��! � ��$��+� ,�-!.���� �  �!"�$���%. 1. ������ �� ������ 
��	B� ��A ����+	�� ������" ���	A����" ��A����	�� ��" ������	��B (�(. 
��� ���	  ��A���%� ��!�A����� (��������) �� ���  �� �A��B,��	 100 
��	A�� �� A���%�" %��	�	� (A��. 1).  

 
3���	�����, �� ��	�A�� ��A����	�� ��!�A�����, ��A���%����	��, � 

��A��+ �%�A�� , ��0!!�����	�� ��	������ 9. )� ��A������	 �����	��B" 
�A����  ���� ,���� �����	��B ������� �A� ��� A���A��	A������ �� 
�����+. ��0!!�����	 ��	������  ������	 + ��A������	�� ����	A�����" 
������ � �A�������B�� ��	�A������.  

 

                               
�)                                                                  �)  

3��. 1. ����� ��� ���	��� �	�AB	��� �!���: �) ���	��,���� ���� ������" � 
��A����	�� ��" ����� ��" ���	���; �) �����  ����� ������� �������� ����	�� ���" 
	������������������" A���	�� � ���!���A���� �	�AB	��� �!��� 



D��, ��� ������ ��	���A�� 5� (A��. 2 �, �, �), ��0!!�����	 ��	������ 
���	�����	 �� �����  22 �1/100 ��	A�� �� %��	�	� 100 5-� (A��. 2 �).  

 

              
       �)                       �)                            �)                                              �) 
 

3��. 2. (�	��B� ������ ��	���A�� 5� � 4-�� ��	B�� ��A��� (�����	A 	����A�����2�� 
#��  0,511 �� – 24 AWG): �) ��0�A���A�����B" �����  (UTP); �)  � ��2�� ��� ���� 4-
� ��A 0�A���� � ���� !�� �� (FTP);  �) � 0�A���� � ���� !�� �� � ����	��  (STP); �) 
%��	�	��� ���������	  ��0!!�����	� ��	������ ��	����� ������ ��	���A�� 5�: 1 – 
��A��A����� ���%����; 2 – ����A���B� ���%���� ��� ��#��" �� 4-� ��A  
 

F����� ��0!!�����	� ��	������ �����#���	  ��A���%� ��!A��B� 
�������� ��A������	�� 	��#� ��%��	��� 	��������� ����	������� ������. 
/	� ������	 �	A�#���� � ����%��� �	A��	�A�B� ����A�	�B� ��	�A  – SRL, 
������B� �������� � ������ (A��. 3) [3].  

F��B,���� ���A��	� ��A���%� ��!�A����� � 10 A��: ��A���� �� 100 
51�	/�  �� 1000 51�	/� �A�����	 � �����%���+  �����B �A��������� 
����� ��" ���	��B � 650 5-�/ 125 5-� = 5,2 A��� (������� � �A������B� 
	���� ����A������ �������� � ��	�). .  ��	� Fast Ethernet ��!�A����� 
��A����	�� ��������� ���	�� ���	 + 8:10-9 

� = 8 ��. . ��	� Gigabit Ethernet – 
����� ��A�	���� ����� ���� ���	�� ���	 + ����� 1,5 ��. 

 . �B�������A��	�B� (�( (6.() ��!�A����� ��A����	�� 
�����������B�� ����� ����. )�����%�	  ��A���%� 	���� ��A�	��� 
����� ��� �� ��A����	�� ���� �����+ ��#�� 	�� �� �����%����� �����	A� 
����B� 	����A�����2�� #�� (DF;) � 0,64/0,511 = 1,25 A��� � ���� ,����� 
��0���	A�%����" �A���������	� < ��	�A���� �������� � 2/1,6 = 1,25 A���.  

.���	� ����,��" ����0	�������" �������� � ������ 7-"  ��	���A�� 
����� ���	��  !���%���� ���������� ���	�� ��������. ��� ���B,���� 
��������	�"%����	� �A� ��A���%� ����� ��A�	��� �� ���	�� ���	� �������� 
������ ��2��� 0�A��� ��� 4-� ��A ��#���  ��A� ������ 7-" ��	���A�� ����	 
���������� �B" 0�A�� (���������� – S/STP).  ��� ���	  ��A���%� 

1 

2 



��!�A����� �A� ������ ������ � ��	���A�� 5� �� 7-+ ��	��	�� ���������" – 
100 ��	A��. 

 

       

          �)                                  �)                                  �)                                   �) 
 

3��. 3. .���%��� �	A��	�A�B� ����A�	�B� ��	�A  – SRL; �) �������	�� �B� 
����A�	�B� ��	�A�,  �����������B� ������A,���	��� ����	A����� ������ 
(!���	����� �����	A� 	����A�����2�� #��, 	��2��B ��������, ,���� ��A�	�� ��A); 
%��	�	��� ���������	  ��� ��	����� ������ ��	���A�� 5�: �) ��A�������� ��	������ �� 
���#��� ����� ��	����� ������; �) ��2�2�����	�; �) �����A��" ��2���	� ����� �� 
���#��� ����� �A� �������  3-� ��A �� ���� � ��	���� ������ ��	���A�� 5� 

 

F�A���� � �2� ����� �B����� ���A��	�� ��A���%� ��!�A����� 10  � 
��#�  100 -1�	/� �A�����	, 	��A�	�%����, � ���� ,���+ ���	�� ���	� 
��!�A�������B� �������� � 10 – 100 A�� �� �A������+ � ��	��� Gigabit 
Ethernet.  

���	�� ���	  �������� ���	�����	  0,15 – 0,015 �� = 150 – 15 ��, 	.�. 
��!�A����� ��A����	�� �#� �����������B�� ����� ���� (1 �� = 1000 ��). 
��� 0	��� ���������� �����%�	  ������ �A��������� ��	�����  ������ � 10 – 
100 A��, %	� A������� �� �����%���+ �����	A� DF;. )����� �����%���� 
�����	A� DF; ����������A����, 	.�. ���� �� �����B� ���	����	� ��	B� ��A 
– ������	  � �����	�� �A� ���	�#� – 	�A��	��.  

)������� �������� �A�������	��� ����� ��" �A������� �����+	 
����A,���	������+ 	��������� �A�������	�� ������" (�A������� ����%���� 
DF;, 0��	A���A������ ��������, ��A�	�� �A��������� � ��AB). FA� 0	�� 
�A����	 �����������  �������� �����%����	��, 	.�. ���� ������A����" !��B � 
�������� ���A��	��	, ��0���	A�%�����  �A���������	  ���� ,��	��. . 
A���� 	�	�  ���� ,�+	��  �����	  ��AB C, 	������ ���� ��0���	A�%����� 
��	�A  tg= , ��0!!�����	 ��	������ �������� 9 � �  ������  9 � �����: 

 

1 

2 

1

2

1 

2 

1 

2 



            8,69 / /
2 2� �

R C tg
C L L C

ω δα α α � �= + = +� �
� �

 . 

 
������ � ���%,����" ��������" 7+ � 8-" ��	���A�"  ������%���+	 

��A���%� ��!�A�������B� �������� � ����	A�  %��	�	 900 � 1200 5-� 
���	��	�	�����.  

3��� �� ������ �A��������� ����� ��" ���	��B �A� ��A����� �� 
���A��	� 1-1�	/�  � 10 -1�	/� ���A��	��	 �� � 10 A��, � ����� ��,  � 1200/650 
= 1,85 A���, 	.�. �� 85 %. FA� 0	�� ��!�A����� ��A����	�� ����� ���� 
���	�� ���	 + 1/1200 5-� =0,8 �� = 800 ��. . �+��� ���%�� �A������ 
��A���%� ��A�	���  �������� ������������" ���	�� ���	� �� ����B� ��	B� 
��A�� ��	��	�� ��	��� ��".   

2. FA�������� ���������-��	�%����� ������" �� ���,��" 
��A����	�� ��" ������	��� (���������� ��#�� ����" �����") � (�( 
�����A������ A�,��	 ��� ����%�: �����%���� ��� ���	� ��A���%� �������� � 
���B,���� �� ���A��	�.  

��0!!�����	 ��	������ ��	����� ������  ��	���A�� 5� �  (220 �1/ ��) /(3 
�1/ ��) = 73 A��� ��� ,� ��	������ ��	�%������ ������ �   ����������B� 
��������, A���	�+2�� �� ����� ����B 850 �� (��. 	���. 2). 

 
D������ 2 

)�	�%����� ��A��	�A��	��� ����������B� ��	�%����� ������� � �A�����	�B� 
�A�!���� ������	��� �A��������� 

D�� �������: �����	A ��A������B, ���/ �����	A 
���	��	A�#�+2�" �����%��, ��� 

 
50 / 125 

 
62,5 / 125 

E�A��	�A��	��� � ���	��	�	��� � ��#����A���B�� 
�	����A	��� 

ITU – T –  
G 651 

IEC  60793 – 2 

>�	������, �� ����� �1/�� �� ����� ����B: 850 �� 
1300 �� 

3,0 
1,0 

3,0 
1,0 

FA���������� �����B �A��������� �� 
A���	�����,5-�:��  �� ����� ����B:           850 �� 

1300 �� 

 
?250 
?500 

 
?200 
?400 

@������� ���A	�A�, NA 0,21± 0,02 0,275± 0,015 

 
D.�. A���	����� ��#�� �������� � (�( �� �A��B,��	  3 ��, 	� �B��A 

������� ��	�%������ ������ (A��. 4) ���2��	����	�� �� �� ��0!!�����	� 
��	������, � �� �A���������+ ���A��	� ��A���%� �� A���	����� (�� 



,�A�����������	�) ��� ����������B� ������� ��� �� �A���	�%����" 
�����A��� ��� ���������B� ������� (	���. 3).  

 

                      
                            �)                                                           �) 

3��. 4. )�	�%����" �����  ����� ��" ����	A����� ��� �A������� � ����� ��" 
�����������: �) ���,��" ���; �) ����	A����� ������: 1 – ���	A�� �B" ������" 
0�����	 �� ������ �	��������	���; 2 – ��	�%����� ������� � ��A��%��� ��2�	��� 
���AB	��; 3 – ��	�%����" �����  � 	����	A���B� ���A�!���B� �����������; 4 – 
0�����	 ����������; 5 – ���A�!����� ���������� ��A��%���� ������; 6 – ��A����+2�� 
��A��%��� ������ ���	�; 7 – ��A�%��+2�" ���" �����A��B� (	��A����B�) ��	�"; 8 – 
�A���#�	�%��� ������A��� �����%��; 9 – ������A������� �	�� ���  �����%��; 10 – 
���,��� ��2�	��� �����%�� �� ������ ���	��	�������A�������� ����0	����� 
�

D��, � ��	� Fast Ethernet,  ��� ���	  ��A���%� �������� ���	�����	 
200/125 = 1, 6 �� � 250/125=2 �� ���  ����������B� ������� � �����	A��� 
��A������B 62,5 ��� � 50 ��� ���	��	�	����� �� ����� ����B 850 ��  (	���. 
2).  

F��B,���� ���A��	� ��A���%� ��!�A����� �A�����	 � ���� ,���+ 
��� ���	� �� ��A���%�. >����� ���	������ ��  �����A���������B" ����A �� 
����� ����B 850 �� �� �A�����	 � ��2��	������� ���B,���+ ���A��	� 
��A���%� �� �������. /	� ������� � �A���	�	���� � ������� �A���	�%����" 
(��	�A��� ��") �����A���. )�� ������� � �������A���	�%���	 +  ��	�%���� 
��	�%������ ����%����, � 	�� %���� � ����A�.  

F��B,���� ���A��	� ��A���%� �� ������� �����#�� 	�� �� ��A������ 
�� A���%�+ ����� ����B, A����+ 1300 ��. C� 0	�" ����� ����B 
��	�A��� ��� �����A��� ������� �������%�� ����. )�A�����+2�" �����	�� 
������������ �����A���, ��	�A�� � ��A���%����	 ���A��	  ��A���%� 
��������.  ��� ���	  ��A���%� � ��	� Gigabit Ethernet �� A =1300 �� 
���	�����	 400/650=0,615 ��  B 600 ��	A�� � 500/650=0,790 �� = 790 ��	A�� 
��� 62,5 � 50 ��� ������� ���	��	�	�����.  F�A���� � ����B ����B 850 �� 



�� ����� 1300 �� ���%�	 �� ����" ������ ���	�����%�+2�� ������ � 
!�	��A�������� ��	�.  

(�����	 	��#� �%�	B��	 , %	� �� �������,��" ���  �	�����	  
����������B�  ��	�%����� ������� � �A�����	�B� �A�!���� ������	��� 
�A��������� ����B���	��  �B,� �	�����	� �	����A	�B� ���������B� 
������� (SMF). FA�%��� – ���#���	  	��������� ����A������ – ����%���� 
������A����" ��A������B �������. �����	A ���#����B� %��	�� � �A������ 
�A�������	�� ����	����  A���� 1000 – 100 �C. D��2��� ���#������� ����  �� 
�A��B,��	 50 ���/200 ����� = 0,250 ��� = 250 ��.  

FA�������	�� �B�����A��A�%�B� ��	�%����� ����	���� �	����	�� � 
A��A��� �B�����  	��������", � ����	����������. . �B�������A��	�B� ��	�� 
���������� �A�����	  ��	�%����� ������ � ���������B�� ��	�%������ 
���������, ��� ��� ���,��" ��A����	�� ��" ������	��B, 	�� � ���	A����" 
��A	���� ��".  

3����%�� ����������B� � ���������B� ������� ���	��	 	�� �� � 
�����	A� ��A������B �������. . ����������� ������� ��, �A��	�%����, �� 
��A���� ��� ,�, %�� � �������������.  . ���������	� �	 A���%�" ����B 
����B �����	A ��A������B ���������B� ������� A����  5 – 10 ���. D�� ��� 
� 	���� �������� A���A��	A����	�� 	�� �� ���� ��% (���� ����), 	� � ��� 
�	��	�	���	 ��#������� �A������� �����A���. )������" ��	�%��� 
�����%���� ���	�� ���	� �A�����2�� �� ������� ��������  –  
�A���	�%����� �����A���.  

 
D������ 3 

)�	�%����� ��A��	�A��	��� ���������B� ��	�%����� �������  

D�� �������:  (	����A	��� 
����������� 

(SMF) 

.������ �� ���-
2����" �����A-

���" (DSF) 

.������ � ������- 
��" ���2����" ��-
���A���" (NZDSF) 

E�A��	�A��	��� � 
c��	��	�	��� �: 

ITU – T – G 
652 

ITU – T – G653 ITU – T – G 655 

>�	������, �� ����� 
�1/�� �� ����� ����B 
(��): 1310 �� 
                    1550 �� 

 
 

0,36 
0,22 

 
 

– 
0,35 

 
 

– 
0,35 

EA���	�%����� 
�����A��� �� ��, �� 
����� ��/(��:��): 
1285 – 1330 �� 
1550 �� 

 
 
 

3,5 
18 

 
 
 

– 
– 

 
 
 

– 
– 



1530  – 1565 �� 
1525 – 1570 �� 

– 
– 

– 
3,5 

1 – 6 
– 

�����	A ���� ���B 9,3± 0,5 ��� 
(A = 1310 ��) 

7,8± 0,8 ��� 
(A = 1550 ��) 

9,5 ± 0,5 ��� 
(  A = 1550 ��)  

 
D��, ���  �	����A	���� ��	�%������ ������� SMF  �A���	�%����� 

�����A��� ���	�����	 �� ����� 3 ��/(��:��) �� ����� ����B 1310 ��. /	� 
����%��	, %	� �A� ����� ������� � ��%��	�� ��	�%���� ��	�%������ 
����%���� �����A������������ ����A� � ,�A���" ����	A�� ��" ����� 
(�������A���	�%���	 +) � D A = 1 ��  ���	�� ���	  ����� �� ���A��	�	 �� 3 
�� �A� ��A���%� ��	�%������ ������� �� A���	����� 1 ��. (��A��	  ��A���%� 
��!A��B� ��������  � ���	��	�	��� � 	��A���" E������ ���	���	 1/3 �� 
=0,3:1012 

1�	/� = 300 -1�	/� �A� ��� ���	� ��A���%� 1 ��.  
FA��������  ����A� � ,�A���" ����	A�� ��" ����� D A =0, 1 �� 

��������	  �����%�	  ���A��	  ��A���%� �������� (��!�A�����) �� ��A����.  
)�� A����  3000 -1�	/�.  

5����	A�� �B�  ���������-��	�%����� ������ � ���������B�� 
��	�%������ ��������� ������%���+	 ���B	�%���	  ��	� � �����#���	  
���B,���� ���A��	� ��A���%� ��!�A����� (��������) � ��". .���A���� 
���������-��	�%����� ������" � ��A����	�� ��+ ������	��� (�( (A��. 1) 
���A#����	��  
 
 
�	�����	 + �A����-��A���+2�� ��	A�"�	�, ��	�AB� ���������B �� ��#��� 
A���%�� ���	�.  

7��� ������ �������	� ���	�����	, � �A�����, ����� 100–250 $. FA� 
%���� PC � ��	�,  A����� 100 � 1000, �	�����	  �A����-��A���+2�� 
��	A�"�	� ���	���	 (100–250) E100=10 000 – 25000 $ ���	��	�	�����. 
3��������� (�( � ������� ������� �� A���%��� ���	� «Fiber To The Desk» 
��� ���� 	�� �� �A���B� ������ � �A��B,����B� �A���A��	���. 

 
�/$�"/:  
1. F�������� ���B� �B�������A��	�B� 	��������" �� ����+%��	 

����� ������� � ��A����	�� ��" ������	���  ����B� ��	B� ��A. 
 2. F�A���� �� ���A��	� ��A���%� 1 Gigabit Ethernet �� 10 – 100 -1�	/� 

�A�����	 � ������ ��A����	�� ���� ������ 7-" ��	���A�� �� 7+ � 8-+ 
��	���A��.  



3. ��A�	���  �	A���� ����B� ������" �� ������ ��	B� ��A  ���	�	�%�� 
����� �2� ����	 �A�����	 �� � (�( �� �%��	�� �������� ����	�� ���� 
	�������������������  A���	�� – A���%�� ���	� (A��.1).  

4. .��,��� ��A����	�� ��� � ���	A����� ��A	���� ��� ������	��B 
(�����	A�� �B� �%��	��)   ���A�����B� �	A��	�A�A�����B� ����� �B� 
���	��  ���#�B �B�����	 �� �� ��	�%����� ������� � ���������B�� 
��	�%������ ���������. F�A���� �� ����� �B����� ���A��	� ��A���%� �� 
�����%�	 �� ����" ������ 	����� ������.  

5. .���A���� ��	�%����� ������" � ��A����	�� ��+ ������	��� (�( 
���A#����	�� �	�����	 + �A����-��A���+2�� ��	A�"�	�. 

 
��� �( ��-!.�-&./: 1. ������	ABCCDE F.�. �������	��� ������" ����� ��" �B%����	�� ��" ��	� 
E-F� / F.�.������	ABCCDE, �.�.�B���B // .��	��� E-F�. – 1999 – .B�. 64. – (.50 – 61. 2. 
������	ABCCDE F.�. E�A���������B� ��#�	�������B� ��	�%����� ������ ����� -D( / 
F.�.������	ABCCDE // ��!�A�������B� 	���������: �����, 	������, 	���������, ��A��������, 
���A�� �: (�. ���%�. 	A���� E-F�. – 1998 – .B�. 6, %. 3. – (.226 – 230. 3. ������	ABCCDE F.�. 
C��B� 0���	A�����������B� ��	�A���B 	�����������������B� ������" / F.�.������	ABCCDE // 
.��	��� CD� «EF�». – .B�. 5. – 2001. – (.9 – 15. 
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�������� 	AB��C�� �DE�	FA���D�� �A����� 
�C	��C�	�	��ADD�� �A����D�� ���C�F 

 
� A����� ��A����� �A���	������ � ��A���  «����� �� ��!�A����"�� ��A�#�» � «$���%�� ������ 
��	������������& 	������» �	����	��� ��!��A� «'���	A��������"�� " ����� �� 	������» 
A�������	� �	��� A����	�� ��!�A����"��� ������� � �	A��	�A������ ����� ��� ���	���� ((�(). 
)�*A��	����� ��#�����	�  ���	�������� ������� �� ������ �A�%���� ��A � ��	�%��� ������� � 
����� ��� ��%���+��� ��� ��A�#�� �A� ,������	� ��A���%� ��!�A����& �� 10 -��	/� 
 
. A����� ��A����� �A���	�A������ �� ��A���  «����� �B� ��!�A�������B� ��	�» � «$���%����� 
�����B ��	����������" 	������» �	����	��� ��!��AB «/���	A������������� � ����� ��� 
	������» A�����	A��B 0	��B A����	�� ��!�A�������B� ������" � �	A��	�A�A�����B� ����� �B� 
���	����. )��������B �����#���	�  �A�������� ������" �� ������ ��	B� ��A � ��	�%����� 
������� � ����� �B� �B%����	�� �B� ��	�� �A� ���A��	� ��A���%� ��!�A����� �� 10 -1�	/� 
 
Within the framework of game designing at rates «Cable information networks» and « Physical bases of 
optical fiber technics» students of faculty «Electroinsulating and cable techniques» are considered stages 
of development of information cables in structured cable systems (SCS). Opportunities of application of 
cables are proved on the basis of twisted pairs and optical fibers in local computer networks at speed of 
transfer of the information up to 10 GBIT / s 
 

A����� �� �!"��# �  �!"�$���% � �&'��(�)�%. D���B ����A���� 
��!A��B� 	��������" � ���A������+ #���  ��2��	�� ��A�#�+	. D��, ���� 
����	  ��	 	��� ����� ��� ������� ��	�A��	�� �B�� �������", 	� ��"%�� 
0	�� ������ �� �����, . ����� ��� �	A���  ��A��	 ���� �� �����B� A���" � 
�B�	A�� A����	�� ��!�A�������B� 	��������" (	���. 1). 

�

D������ 1 
)���2���B� �	�	��	�%����� ����B� �	��� �B� ���	���B� %��	�" ��!�A��������" 
����� ��-�B%����	�� ��" ��	� �A���A��	�� 

F�����	��  FA��A������ 
������%���� 

(�	���� 
���A�������

� 

3���%�� 
�	����� � 
��A��AB 

����� ��� 
���	��� 

FA����#�	�� ���	      



0������	����, ��	      1,5 – 2      2,5 – 3     2 – 4  10 – 15 

)� �� ����	�� �B� 
���#���", % 

 
        54 

 
         7 

 
       34 

 
       5 

 
 FA� 0	�� ��A���� �������	�	�%�� � ������%���� ���	�A� 

	�����������������B� 	��������" ��!�A�������B�� �������� (�����B 
«)�������� » – ��	B� ��AB ��	���A�� 5�, 6-" � 7-", ��	�%����� ������; 
«4#����� » – ��	�%����� ������).  �� ��A����B 90-� ����� �A�,���� 
�	���	�� «����B�» ����� �B� ���	��B �� ������ ��	B� ��A 3-" ��	���A�� 
A���	��� �� %��	�	�� �� 20 5-� � �����A#����� ���	��B 10Base-T (��	� 
Ethernet �� ���A��	 + ��A���%� 10 51�	/�).  

)�	�%����� ������ 	�� �� ��%����� ����� ����	 ��  � ��%��	�� 
�����	A�� ��" ������	��B. )�� ��������� ��#�� ����"  ��	���� 
���A��������, ������2���� � A���B� ������� � ��A�����.  D��,  � ����� ��" 
�B%����	�� ��" ��	� (6.()  ��,��� ���	�	�	� ��A�B" 4-� ��������B" 
��	�%����" �����  �������� 7��	A ��!�A�������B� 	��������" � �%���B" 
��A��� �2.  ����� �����	A�� ��" ����� ��A���� 500 ��	A��. �����  � 
����������B�� ��	�%������ ���������, �����	A ��A������B ��	�AB� 
A���� 62,5 ���.  

FA�������� ��	�%������ ������ � 	����� ��������� ������%����� �� 
	�	 �����	 ��%,�� ��A��	�A��	��� ���������� (��� ,� ������B� ��	�A�) 
�� �A���	���� ��A���%� ����B�� �� �A������+ � 50-� ���A���B�� 
��	�%������ ���������.� (�	  A���	���� �� ����� ����B 850 �� �� 
���	������� � ��%��	�� ��A���	%��� ��	�%����� ����� ��� [1 – 2].  

. ����� 90-� ����� ���A��� �����������	  � ����� �B����" ���A��	� 
��A���%� ����B� � ����� � ��A������ �	 ����� ������� ��	�����B� PC 
(��A����� �B� ����8+	�A��) � �A�������+ ���	A���������B� ��A��A�B� 
A�,���". FA�������� ���������	  ���� +	�A�B� ��	�" �BA���� � 10 �� 100 
51�	/c, 	.�. ���2��	���� ��A���� �	 Ethernet � Fast Ethernet.  C� ����� ��	B� 
��A�� 3-" ��	���A�� �A�,�� ������ ��	���A�� 5 � 5�. )�� ������%����� 
��A���%� ��!A��B� �������� � ����	A� �� 125 5-� �� A���	����� �� 100 
��	A��.  

C�%��� ������ �	���	�� �������������  ��� ��",�� ���B,����� 
�A�������	�� ���	� ��	�".  (	A��	�A�A�����B� ����� �B� ���	��B   
���#�B �B�� �����A#���	  	��������� Gigabit Ethernet, 	.�. ��A���%� 
��!�A����� �� ���A��	 + 1000 51�	/�. C� ����� ��	B� ��A�� ��	���A�� 5� 
�A�,�� ������ 6 � 7-" ��	���A�", � ��	�%����� ������� � ����������B�� 
��������� – ������ � ���������B�� ���������. D���� ���������-



��	�%����� ������ A���	�+	 �#� �� �� ���	�����%�+2��� �������, � � 
�����A���������B�� ����A��� �� ����� ����B 1310 ��. . �+��� ���%��  
��2��	��+2�� �	A��	�A�A�����B� ����� �B� ��	� ����+	�� ���A���B��: � 
��� ����� ��+	�� ��� 	A��������B� 0���	A�%����� ������ �� ������ ��	B� 
��A, 	�� � ��	�%�����. FA� 0	�� ����B� ������ ����� ��+	�� � ��%��	�� 
��A����	�� ��" �A������ – ���	A����� ��A����	�� ��� ������	��� – ��� 
���������� ��#�� ����" ���� +	�A�� ���	A� ������ �� 0	�#�. )�	�%����� – 
� �����	A�� �B� ��!A��	A��	�A��: ���,��� ��A����	�� ��� ������	��� – 
��� ���������� ��#�� ����" �����"; ���	A����� ��A	���� ��� ������	��� – 
��� ���������� ��#�� ����" ����A�	�B� ��#�� 0	�#���  ���	A� ������.  

���� ������ – ������ �����#���	� �A�������� ������" �� ������ 
��	B� ��A � ��	�%����� ������" � ����� �B� �B%����	�� �B� ��	�� �A� 
���A��	� ��A���%� �� 10 -1�	/�. 

����*!��! � ��$��+� ,�-!.���� �  �!"�$���%. 1. ������ �� ������ 
��	B� ��A ����+	�� ������" ���	A����" ��A����	�� ��" ������	��B (�(. 
��� ���	  ��A���%� ��!�A����� (��������) �� ���  �� �A��B,��	 100 
��	A�� �� A���%�" %��	�	� (A��. 1).  

 
3���	�����, �� ��	�A�� ��A����	�� ��!�A�����, ��A���%����	��, � 

��A��+ �%�A�� , ��0!!�����	�� ��	������ 9. )� ��A������	 �����	��B" 
�A����  ���� ,���� �����	��B ������� �A� ��� A���A��	A������ �� 
�����+. ��0!!�����	 ��	������  ������	 + ��A������	�� ����	A�����" 
������ � �A�������B�� ��	�A������.  

 

                               
�)                                                                  �)  

3��. 1. ����� ��� ���	��� �	�AB	��� �!���: �) ���	��,���� ���� ������" � 
��A����	�� ��" ����� ��" ���	���; �) �����  ����� ������� �������� ����	�� ���" 
	������������������" A���	�� � ���!���A���� �	�AB	��� �!��� 



D��, ��� ������ ��	���A�� 5� (A��. 2 �, �, �), ��0!!�����	 ��	������ 
���	�����	 �� �����  22 �1/100 ��	A�� �� %��	�	� 100 5-� (A��. 2 �).  

 

              
       �)                       �)                            �)                                              �) 
 

3��. 2. (�	��B� ������ ��	���A�� 5� � 4-�� ��	B�� ��A��� (�����	A 	����A�����2�� 
#��  0,511 �� – 24 AWG): �) ��0�A���A�����B" �����  (UTP); �)  � ��2�� ��� ���� 4-
� ��A 0�A���� � ���� !�� �� (FTP);  �) � 0�A���� � ���� !�� �� � ����	��  (STP); �) 
%��	�	��� ���������	  ��0!!�����	� ��	������ ��	����� ������ ��	���A�� 5�: 1 – 
��A��A����� ���%����; 2 – ����A���B� ���%���� ��� ��#��" �� 4-� ��A  
 

F����� ��0!!�����	� ��	������ �����#���	  ��A���%� ��!A��B� 
�������� ��A������	�� 	��#� ��%��	��� 	��������� ����	������� ������. 
/	� ������	 �	A�#���� � ����%��� �	A��	�A�B� ����A�	�B� ��	�A  – SRL, 
������B� �������� � ������ (A��. 3) [3].  

F��B,���� ���A��	� ��A���%� ��!�A����� � 10 A��: ��A���� �� 100 
51�	/�  �� 1000 51�	/� �A�����	 � �����%���+  �����B �A��������� 
����� ��" ���	��B � 650 5-�/ 125 5-� = 5,2 A��� (������� � �A������B� 
	���� ����A������ �������� � ��	�). .  ��	� Fast Ethernet ��!�A����� 
��A����	�� ��������� ���	�� ���	 + 8:10-9 

� = 8 ��. . ��	� Gigabit Ethernet – 
����� ��A�	���� ����� ���� ���	�� ���	 + ����� 1,5 ��. 

 . �B�������A��	�B� (�( (6.() ��!�A����� ��A����	�� 
�����������B�� ����� ����. )�����%�	  ��A���%� 	���� ��A�	��� 
����� ��� �� ��A����	�� ���� �����+ ��#�� 	�� �� �����%����� �����	A� 
����B� 	����A�����2�� #�� (DF;) � 0,64/0,511 = 1,25 A��� � ���� ,����� 
��0���	A�%����" �A���������	� < ��	�A���� �������� � 2/1,6 = 1,25 A���.  

.���	� ����,��" ����0	�������" �������� � ������ 7-"  ��	���A�� 
����� ���	��  !���%���� ���������� ���	�� ��������. ��� ���B,���� 
��������	�"%����	� �A� ��A���%� ����� ��A�	��� �� ���	�� ���	� �������� 
������ ��2��� 0�A��� ��� 4-� ��A ��#���  ��A� ������ 7-" ��	���A�� ����	 
���������� �B" 0�A�� (���������� – S/STP).  ��� ���	  ��A���%� 

1 

2 



��!�A����� �A� ������ ������ � ��	���A�� 5� �� 7-+ ��	��	�� ���������" – 
100 ��	A��. 

 

       

          �)                                  �)                                  �)                                   �) 
 

3��. 3. .���%��� �	A��	�A�B� ����A�	�B� ��	�A  – SRL; �) �������	�� �B� 
����A�	�B� ��	�A�,  �����������B� ������A,���	��� ����	A����� ������ 
(!���	����� �����	A� 	����A�����2�� #��, 	��2��B ��������, ,���� ��A�	�� ��A); 
%��	�	��� ���������	  ��� ��	����� ������ ��	���A�� 5�: �) ��A�������� ��	������ �� 
���#��� ����� ��	����� ������; �) ��2�2�����	�; �) �����A��" ��2���	� ����� �� 
���#��� ����� �A� �������  3-� ��A �� ���� � ��	���� ������ ��	���A�� 5� 

 

F�A���� � �2� ����� �B����� ���A��	�� ��A���%� ��!�A����� 10  � 
��#�  100 -1�	/� �A�����	, 	��A�	�%����, � ���� ,���+ ���	�� ���	� 
��!�A�������B� �������� � 10 – 100 A�� �� �A������+ � ��	��� Gigabit 
Ethernet.  

���	�� ���	  �������� ���	�����	  0,15 – 0,015 �� = 150 – 15 ��, 	.�. 
��!�A����� ��A����	�� �#� �����������B�� ����� ���� (1 �� = 1000 ��). 
��� 0	��� ���������� �����%�	  ������ �A��������� ��	�����  ������ � 10 – 
100 A��, %	� A������� �� �����%���+ �����	A� DF;. )����� �����%���� 
�����	A� DF; ����������A����, 	.�. ���� �� �����B� ���	����	� ��	B� ��A 
– ������	  � �����	�� �A� ���	�#� – 	�A��	��.  

)������� �������� �A�������	��� ����� ��" �A������� �����+	 
����A,���	������+ 	��������� �A�������	�� ������" (�A������� ����%���� 
DF;, 0��	A���A������ ��������, ��A�	�� �A��������� � ��AB). FA� 0	�� 
�A����	 �����������  �������� �����%����	��, 	.�. ���� ������A����" !��B � 
�������� ���A��	��	, ��0���	A�%�����  �A���������	  ���� ,��	��. . 
A���� 	�	�  ���� ,�+	��  �����	  ��AB C, 	������ ���� ��0���	A�%����� 
��	�A  tg= , ��0!!�����	 ��	������ �������� 9 � �  ������  9 � �����: 

 

1 

2 

1

2

1 

2 

1 

2 



            8,69 / /
2 2� �

R C tg
C L L C

ω δα α α � �= + = +� �
� �

 . 

 
������ � ���%,����" ��������" 7+ � 8-" ��	���A�"  ������%���+	 

��A���%� ��!�A�������B� �������� � ����	A�  %��	�	 900 � 1200 5-� 
���	��	�	�����.  

3��� �� ������ �A��������� ����� ��" ���	��B �A� ��A����� �� 
���A��	� 1-1�	/�  � 10 -1�	/� ���A��	��	 �� � 10 A��, � ����� ��,  � 1200/650 
= 1,85 A���, 	.�. �� 85 %. FA� 0	�� ��!�A����� ��A����	�� ����� ���� 
���	�� ���	 + 1/1200 5-� =0,8 �� = 800 ��. . �+��� ���%�� �A������ 
��A���%� ��A�	���  �������� ������������" ���	�� ���	� �� ����B� ��	B� 
��A�� ��	��	�� ��	��� ��".   

2. FA�������� ���������-��	�%����� ������" �� ���,��" 
��A����	�� ��" ������	��� (���������� ��#�� ����" �����") � (�( 
�����A������ A�,��	 ��� ����%�: �����%���� ��� ���	� ��A���%� �������� � 
���B,���� �� ���A��	�.  

��0!!�����	 ��	������ ��	����� ������  ��	���A�� 5� �  (220 �1/ ��) /(3 
�1/ ��) = 73 A��� ��� ,� ��	������ ��	�%������ ������ �   ����������B� 
��������, A���	�+2�� �� ����� ����B 850 �� (��. 	���. 2). 

 
D������ 2 

)�	�%����� ��A��	�A��	��� ����������B� ��	�%����� ������� � �A�����	�B� 
�A�!���� ������	��� �A��������� 

D�� �������: �����	A ��A������B, ���/ �����	A 
���	��	A�#�+2�" �����%��, ��� 

 
50 / 125 

 
62,5 / 125 

E�A��	�A��	��� � ���	��	�	��� � ��#����A���B�� 
�	����A	��� 

ITU – T –  
G 651 

IEC  60793 – 2 

>�	������, �� ����� �1/�� �� ����� ����B: 850 �� 
1300 �� 

3,0 
1,0 

3,0 
1,0 

FA���������� �����B �A��������� �� 
A���	�����,5-�:��  �� ����� ����B:           850 �� 

1300 �� 

 
?250 
?500 

 
?200 
?400 

@������� ���A	�A�, NA 0,21± 0,02 0,275± 0,015 

 
D.�. A���	����� ��#�� �������� � (�( �� �A��B,��	  3 ��, 	� �B��A 

������� ��	�%������ ������ (A��. 4) ���2��	����	�� �� �� ��0!!�����	� 
��	������, � �� �A���������+ ���A��	� ��A���%� �� A���	����� (�� 



,�A�����������	�) ��� ����������B� ������� ��� �� �A���	�%����" 
�����A��� ��� ���������B� ������� (	���. 3).  

 

                      
                            �)                                                           �) 

3��. 4. )�	�%����" �����  ����� ��" ����	A����� ��� �A������� � ����� ��" 
�����������: �) ���,��" ���; �) ����	A����� ������: 1 – ���	A�� �B" ������" 
0�����	 �� ������ �	��������	���; 2 – ��	�%����� ������� � ��A��%��� ��2�	��� 
���AB	��; 3 – ��	�%����" �����  � 	����	A���B� ���A�!���B� �����������; 4 – 
0�����	 ����������; 5 – ���A�!����� ���������� ��A��%���� ������; 6 – ��A����+2�� 
��A��%��� ������ ���	�; 7 – ��A�%��+2�" ���" �����A��B� (	��A����B�) ��	�"; 8 – 
�A���#�	�%��� ������A��� �����%��; 9 – ������A������� �	�� ���  �����%��; 10 – 
���,��� ��2�	��� �����%�� �� ������ ���	��	�������A�������� ����0	����� 
�

D��, � ��	� Fast Ethernet,  ��� ���	  ��A���%� �������� ���	�����	 
200/125 = 1, 6 �� � 250/125=2 �� ���  ����������B� ������� � �����	A��� 
��A������B 62,5 ��� � 50 ��� ���	��	�	����� �� ����� ����B 850 ��  (	���. 
2).  

F��B,���� ���A��	� ��A���%� ��!�A����� �A�����	 � ���� ,���+ 
��� ���	� �� ��A���%�. >����� ���	������ ��  �����A���������B" ����A �� 
����� ����B 850 �� �� �A�����	 � ��2��	������� ���B,���+ ���A��	� 
��A���%� �� �������. /	� ������� � �A���	�	���� � ������� �A���	�%����" 
(��	�A��� ��") �����A���. )�� ������� � �������A���	�%���	 +  ��	�%���� 
��	�%������ ����%����, � 	�� %���� � ����A�.  

F��B,���� ���A��	� ��A���%� �� ������� �����#�� 	�� �� ��A������ 
�� A���%�+ ����� ����B, A����+ 1300 ��. C� 0	�" ����� ����B 
��	�A��� ��� �����A��� ������� �������%�� ����. )�A�����+2�" �����	�� 
������������ �����A���, ��	�A�� � ��A���%����	 ���A��	  ��A���%� 
��������.  ��� ���	  ��A���%� � ��	� Gigabit Ethernet �� A =1300 �� 
���	�����	 400/650=0,615 ��  B 600 ��	A�� � 500/650=0,790 �� = 790 ��	A�� 
��� 62,5 � 50 ��� ������� ���	��	�	�����.  F�A���� � ����B ����B 850 �� 



�� ����� 1300 �� ���%�	 �� ����" ������ ���	�����%�+2�� ������ � 
!�	��A�������� ��	�.  

(�����	 	��#� �%�	B��	 , %	� �� �������,��" ���  �	�����	  
����������B�  ��	�%����� ������� � �A�����	�B� �A�!���� ������	��� 
�A��������� ����B���	��  �B,� �	�����	� �	����A	�B� ���������B� 
������� (SMF). FA�%��� – ���#���	  	��������� ����A������ – ����%���� 
������A����" ��A������B �������. �����	A ���#����B� %��	�� � �A������ 
�A�������	�� ����	����  A���� 1000 – 100 �C. D��2��� ���#������� ����  �� 
�A��B,��	 50 ���/200 ����� = 0,250 ��� = 250 ��.  

FA�������	�� �B�����A��A�%�B� ��	�%����� ����	���� �	����	�� � 
A��A��� �B�����  	��������", � ����	����������. . �B�������A��	�B� ��	�� 
���������� �A�����	  ��	�%����� ������ � ���������B�� ��	�%������ 
���������, ��� ��� ���,��" ��A����	�� ��" ������	��B, 	�� � ���	A����" 
��A	���� ��".  

3����%�� ����������B� � ���������B� ������� ���	��	 	�� �� � 
�����	A� ��A������B �������. . ����������� ������� ��, �A��	�%����, �� 
��A���� ��� ,�, %�� � �������������.  . ���������	� �	 A���%�" ����B 
����B �����	A ��A������B ���������B� ������� A����  5 – 10 ���. D�� ��� 
� 	���� �������� A���A��	A����	�� 	�� �� ���� ��% (���� ����), 	� � ��� 
�	��	�	���	 ��#������� �A������� �����A���. )������" ��	�%��� 
�����%���� ���	�� ���	� �A�����2�� �� ������� ��������  –  
�A���	�%����� �����A���.  

 
D������ 3 

)�	�%����� ��A��	�A��	��� ���������B� ��	�%����� �������  

D�� �������:  (	����A	��� 
����������� 

(SMF) 

.������ �� ���-
2����" �����A-

���" (DSF) 

.������ � ������- 
��" ���2����" ��-
���A���" (NZDSF) 

E�A��	�A��	��� � 
c��	��	�	��� �: 

ITU – T – G 
652 

ITU – T – G653 ITU – T – G 655 

>�	������, �� ����� 
�1/�� �� ����� ����B 
(��): 1310 �� 
                    1550 �� 

 
 

0,36 
0,22 

 
 

– 
0,35 

 
 

– 
0,35 

EA���	�%����� 
�����A��� �� ��, �� 
����� ��/(��:��): 
1285 – 1330 �� 
1550 �� 

 
 
 

3,5 
18 

 
 
 

– 
– 

 
 
 

– 
– 



1530  – 1565 �� 
1525 – 1570 �� 

– 
– 

– 
3,5 

1 – 6 
– 

�����	A ���� ���B 9,3± 0,5 ��� 
(A = 1310 ��) 

7,8± 0,8 ��� 
(A = 1550 ��) 

9,5 ± 0,5 ��� 
(  A = 1550 ��)  

 
D��, ���  �	����A	���� ��	�%������ ������� SMF  �A���	�%����� 

�����A��� ���	�����	 �� ����� 3 ��/(��:��) �� ����� ����B 1310 ��. /	� 
����%��	, %	� �A� ����� ������� � ��%��	�� ��	�%���� ��	�%������ 
����%���� �����A������������ ����A� � ,�A���" ����	A�� ��" ����� 
(�������A���	�%���	 +) � D A = 1 ��  ���	�� ���	  ����� �� ���A��	�	 �� 3 
�� �A� ��A���%� ��	�%������ ������� �� A���	����� 1 ��. (��A��	  ��A���%� 
��!A��B� ��������  � ���	��	�	��� � 	��A���" E������ ���	���	 1/3 �� 
=0,3:1012 

1�	/� = 300 -1�	/� �A� ��� ���	� ��A���%� 1 ��.  
FA��������  ����A� � ,�A���" ����	A�� ��" ����� D A =0, 1 �� 

��������	  �����%�	  ���A��	  ��A���%� �������� (��!�A�����) �� ��A����.  
)�� A����  3000 -1�	/�.  

5����	A�� �B�  ���������-��	�%����� ������ � ���������B�� 
��	�%������ ��������� ������%���+	 ���B	�%���	  ��	� � �����#���	  
���B,���� ���A��	� ��A���%� ��!�A����� (��������) � ��". .���A���� 
���������-��	�%����� ������" � ��A����	�� ��+ ������	��� (�( (A��. 1) 
���A#����	��  
 
 
�	�����	 + �A����-��A���+2�� ��	A�"�	�, ��	�AB� ���������B �� ��#��� 
A���%�� ���	�.  

7��� ������ �������	� ���	�����	, � �A�����, ����� 100–250 $. FA� 
%���� PC � ��	�,  A����� 100 � 1000, �	�����	  �A����-��A���+2�� 
��	A�"�	� ���	���	 (100–250) E100=10 000 – 25000 $ ���	��	�	�����. 
3��������� (�( � ������� ������� �� A���%��� ���	� «Fiber To The Desk» 
��� ���� 	�� �� �A���B� ������ � �A��B,����B� �A���A��	���. 

 
�/$�"/:  
1. F�������� ���B� �B�������A��	�B� 	��������" �� ����+%��	 

����� ������� � ��A����	�� ��" ������	���  ����B� ��	B� ��A. 
 2. F�A���� �� ���A��	� ��A���%� 1 Gigabit Ethernet �� 10 – 100 -1�	/� 

�A�����	 � ������ ��A����	�� ���� ������ 7-" ��	���A�� �� 7+ � 8-+ 
��	���A��.  



3. ��A�	���  �	A���� ����B� ������" �� ������ ��	B� ��A  ���	�	�%�� 
����� �2� ����	 �A�����	 �� � (�( �� �%��	�� �������� ����	�� ���� 
	�������������������  A���	�� – A���%�� ���	� (A��.1).  

4. .��,��� ��A����	�� ��� � ���	A����� ��A	���� ��� ������	��B 
(�����	A�� �B� �%��	��)   ���A�����B� �	A��	�A�A�����B� ����� �B� 
���	��  ���#�B �B�����	 �� �� ��	�%����� ������� � ���������B�� 
��	�%������ ���������. F�A���� �� ����� �B����� ���A��	� ��A���%� �� 
�����%�	 �� ����" ������ 	����� ������.  

5. .���A���� ��	�%����� ������" � ��A����	�� ��+ ������	��� (�( 
���A#����	�� �	�����	 + �A����-��A���+2�� ��	A�"�	�. 
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